
   

Indices 

 

Expression Examples 
𝑎𝑚 = 𝑎 × 𝑎 × 𝑎 × … 𝑚 𝑡𝑖𝑚𝑒𝑠 45 = 4 × 4 × 4 × 4 × 4 

𝑎−𝑚 =
1

𝑎 × 𝑎 × 𝑎 × … 𝑚 𝑡𝑖𝑚𝑒𝑠
=

1

𝑎𝑚
 5−3 =

1

5 × 5 × 5
=

1

53
 

𝑎−1 =
1

𝑎
 7−1 =

1

7
 

𝑎𝑚 × 𝑎𝑛 = 𝑎𝑚+𝑛 63 × 62 = 63+2 = 65 

𝑎𝑚

𝑎𝑛
= 𝑎𝑚 × 𝑎−𝑛 = 𝑎𝑚−𝑛 

54

53
= 54−3 = 51 = 5 

84

87
= 84−7 = 8−3 =

1

83
 

(𝑎𝑚)𝑛 = 𝑎𝑚𝑛 

(32)3 = 32×3 = 36 

(43)−2 = 4−6 =
1

46
 

(5−2)2 = 5−4 =
1

54
 

(2−1)−2 = 22 = 4 

𝑎
1

2⁄ = √𝑎 
80.5 = 8

1
2⁄ = √8 = 2√2 

𝑎0.5 = 𝑎
1

2⁄ = √𝑎 

𝑎
1

𝑚⁄ = √𝑎
𝑚

 64
1

3⁄ = √64
3

= 4 

𝑎
𝑚

𝑛⁄ = √𝑎𝑚𝑛
 100

2
3⁄ = √10023

= √10000
3

= 10√10
3

 

𝑎
−𝑚

𝑛⁄ = √𝑎−𝑚𝑛
= √

1

𝑎𝑚

𝑛

 45
−3

2⁄ = √45−32
= √

1

453

2

 

𝑎0 = 1 1625430 = 1 

(−𝑎)𝑚 = 𝑎𝑚  if m is even (−3)6 = 36 

(−𝑎)𝑚 = −𝑎𝑚  if m is odd (−3)5 = −35 

(𝑎 × 𝑏)𝑚 = 𝑎𝑚 × 𝑏𝑚 (2 × 4)3 = 23 × 43 = 8 × 64 

(𝑎 × 𝑏)−𝑚 =
1

𝑎𝑚 × 𝑏𝑚
 (3 × 5)−2 =

1

32 × 52
 

If 𝑎𝑚𝑥 = 𝑎𝑧  then mx=z, x=z/m 𝑎3𝑥 = 𝑎6  then 3x = 6, or x = 2 

 


